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C
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–
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th
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b
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A
g
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u
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T
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e
:
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h
o
u
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M
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Ÿ
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o
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)
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(i)
C
andidates

are
required

to
give

answ
ers

in
their

ow
n
w
ords

as
far

as
possible.

¬⁄ËˇÊÊÕË¸ÿÕÊ‚
¢÷fl

•
¬Ÿð‡ÊéŒÙ¥◊ð¥

©ûÊ⁄
Œð¥–

(ii)
M
arks

alloted
to

each
question

are
indicated

against
it.

¬˝àÿð∑
¬˝‡Ÿ

∑ð
•
¢∑
©‚
∑ð
‚
Ê◊ŸðÁŒ∞

ª∞
„Ò¥–

(iii)
A
ll
questions

are
com

pulsory.

‚
÷Ë
¬˝‡Ÿ

•
ÁŸflÊÿ¸„Ò¥–

(iv)
A
nsw

ers
should

be
brief

and
to

the
point.

©ûÊ⁄
‚
¢ÁˇÊåÃ

∞fl¢Ã∑¸
‚
¢ªÃ

„ÙŸÊ
ø
ÊÁ„∞–

(v)
A
nsw

er
the

questions
of01

m
ark

only
in
one

w
ord

or
one

line,
2
m
arks

in
20

to
40

w
ords,

3
m
arks

in
40-60

w
ords.

v
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

∑ðfl‹
∞∑

‡ÊéŒ
ÿÊ
∞∑

¬¢ÁÄÃ
◊ð¥,

w
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

wÆ
‚
ðyÆ

‡ÊéŒÙ¥◊ð¥,
x
•
¢∑
flÊ‹

ð
¬˝‡ŸÙ¥∑ð

©ûÊ⁄
yÆ

‚
ð{Æ

‡ÊéŒÙ¥◊ð¥Œð¥–

Q
.1.

A
ttem

pt
all

questions.
5
×
1
=
5

(a)
W
hich

of
the

follow
ing

is
a
com

ponent
of

green
econom

y
?

ÁŸêŸ
◊ð¥‚

ð∑
ıŸ
‚
Ë
„Á⁄Ã

•
Õ¸√ÿflSÕÊ

∑
Ê
∑
Ê⁄∑

„Ò?

(i)
R
enew

able
E
nergy

(ii)
G
reen

B
uildings

(iii)
W
ater

M
anagem

ent

(iv)
A
ll
of

these

(v)
•
ˇÊÿ

©¡
Ê¸

(w)
ª˝ËŸ

ß◊Ê⁄Ã

(x)
¡
‹
¬˝’¢œŸ

(y)
©¬⁄ÙÄÃ

‚
÷Ë

(b)
D
esiindigeneous

plough
is
.................

.

Œð‚
Ë
(SflŒð‡ÊË)

„‹
..................

π
ðÃË„⁄

„Ò–

(i)
A
nim

al
draw

n
(ii)

P
etrol

pow
er

(iii)
Tractor

draw
n

(iv)
N
one

of
these

(v)
¬‡ÊÈmÊ⁄Ê

π
Ëø
ŸðflÊ‹

Ê

(w)
¬Ò≈˛Ù‹

¬Êfl⁄

(x)
≈˛ÒÄ≈⁄

mÊ⁄Ê
ø
‹
ŸðflÊ‹

Ê

(y)
ßŸ◊ð¥‚

ð∑
Ùß¸Ÿ„Ë¥

(c)
F
oundation

seed
tag

is
..................

»
Ê¢©«ð‡ÊŸ

’Ë¡
∑
Ê
≈Òª

...................
„ÙÃÊ

„Ò–

(i)
B
lue

(ii)
W
hite

(iii)
Ye
llow

(iv)
B
lack

(v)
ŸË‹

Ê
(w)

‚
»ðŒ

(x)
¬Ë‹

Ê
(y)

∑
Ê‹
Ê

(d)
A
W
D
stands

for

(i)
A
lternate

w
etting

&
D
rying

(ii)
A
lternate

w
ater

device

(iii)
A
lternate

w
ind

drying

(iv)
N
one

of
these



(e)
W
h
e
th
e
r
a

p
la
n
t
ca
n

su
rvive

w
ith

o
u
t

nutrients.

∞∑
¬ıœÊ

¬Ù·∑
ÃàflÙ¥∑ð

Á’ŸÊ
¡
ËÁflÃ

⁄„
‚
∑
ÃÊ
„Ò–

(i)
True

(ii)
False

(i)
‚
„Ë

(ii)
ª‹
Ã

Q
.2.

A
ttem

pt
any

ten
questions.

10×
2=
20

Á∑
ã„Ë¥Œ‚

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
W
ho

is
entrepreneur

?

©l
◊Ë
∑
ıŸ
„Ò
?

(b)
W
hat

is
seed

?

’Ë¡
ÄÿÊ

„Ò?

(c)
D
efine

w
eed.

π
⁄¬ÃflÊ⁄

∑
Ù
¬Á⁄÷ÊÁ·Ã

∑
⁄‘¥–

(d)
D
efine

environm
ent.

¬ÿ¸Êfl⁄áÊ
∑
Ë
√ÿÊÅÿÊ

∑
⁄‘¥–

(e)
W
hat

are
high

yielding
varieties

?

•
Áœ∑

©¬¡
Á∑
S◊ð¥ÄÿÊ

„ÙÃË
„Ò?

(f)
W
hat

are
nutrients

?

¬Ù·∑
Ãàfl

ÄÿÊ
„ÙÃð„Ò¥?

(g)
W
hat

is
business

?

©l
Ùª
ÄÿÊ

„Ò?

(h)
E
xplain

m
annual

w
eeding.

◊ÒŸÈÿ‹
ÁŸ⁄Êß¸∑

Ù
¬Á⁄÷

ÊÁ·Ã
∑
⁄‘¥–

(i)
W
hy

w
ater

requirem
ent

is
m
ore

in
P
addy

cultivation.

œÊŸ
∑
Ë
π
ðÃË
◊ð¥¬ÊŸË

∑
Ë
•
Áœ∑

•
Êfl‡ÿ∑

ÃÊ
ÄÿÙ¥„Ò?

(j)
D
efine

m
anure.

π
ÊŒ
∑
Ù
¬Á⁄÷ÊÁ·Ã

∑
⁄‘¥–

(k)
E
xpand

IN
M

IN
M
∑
Ê
¬Í⁄Ê

ŸÊ◊
Á‹
π
ð¥–

Q
3.

A
ttem

pt
any

five
questions.

5
×
3
=
15

Á∑
ã„Ë¥¬Ê°ø

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
H
ow

to
do

soil
sam

pling
?

Á◊≈˜≈Ë
∑
Ê
Ÿ◊ÍŸÊ

∑Ò‚
ðÁ‹

ÿÊ
¡
ÊÃÊ

„Ò?

(b)
W
rite

tw
o
diseases

and
tw
o
P
est

of
rice.

œÊŸ
∑ð
Á∑
ã„Ë¥ŒÙ

Á’◊ÊÁ⁄ÿÙ¥•
ı⁄
ŒÙ
∑
Ë≈Ù¥∑ð

ŸÊ◊
Á‹
π
ð¥–

(c)
E
xplain

m
ethods

of
irrigation

in
rice.

œÊŸ
∑
Ë
Á‚
¢ø
Êß¸∑ð

Ã⁄Ë∑
Ù¥∑

Ê
fláÊ¸Ÿ

∑
⁄‘¥–

(d)
E
xplain

charactristics
of

an
entrepreneur.

©l
◊Ë
∑
Ë
Áfl‡Êð·ÃÊ•

Ù¢∑
Ê
fláÊ¸Ÿ

∑
⁄‘¥–

(e)
W
hat

is
im
portance

of
P
addy

farm
ing

in
India

?

÷Ê⁄Ã
◊ð¥œÊŸ

∑
Ë
π
ðÃË
∑
Ê
ÄÿÊ

◊„ûfl
„Ò?

(f)
W
rite

about
N
utrients

and
its

M
anagem

ent
in
P
addy

farm
ing.

œÊŸ
∑
Ë
π
ðÃË
◊ð¥¡

M
⁄Ë
¬Ù·∑

Ãàfl
•
ı⁄
©Ÿ∑ð

¬˝’¢œŸ
∑ð
’Ê⁄‘◊ð¥Á‹

π
ð¥–
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(i)
C
andidates

are
required

to
give

answ
ers

in
their

ow
n
w
ords

as
far

as
possible.

¬⁄ËˇÊÊÕË¸ÿÕÊ‚
¢÷fl

•
¬Ÿð‡ÊéŒÙ¥◊ð¥

©ûÊ⁄
Œð¥–

(ii)
M
arks

alloted
to

each
question

are
indicated

against
it.

¬˝àÿð∑
¬˝‡Ÿ

∑ð
•
¢∑
©‚
∑ð
‚
Ê◊ŸðÁŒ∞

ª∞
„Ò¥–

(iii)
A
ll
questions

are
com

pulsory.

‚
÷Ë
¬˝‡Ÿ

•
ÁŸflÊÿ¸„Ò¥–

(iv)
A
nsw

ers
should

be
brief

and
to

the
point.

©ûÊ⁄
‚
¢ÁˇÊåÃ

∞fl¢Ã∑¸
‚
¢ªÃ

„ÙŸÊ
ø
ÊÁ„∞–

(v)
A
nsw

er
the

questions
of01

m
ark

only
in
one

w
ord

or
one

line,
2
m
arks

in
20

to
40

w
ords,

3
m
arks

in
40-60

w
ords.

v
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

∑ðfl‹
∞∑

‡ÊéŒ
ÿÊ
∞∑

¬¢ÁÄÃ
◊ð¥,

w
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

wÆ
‚
ðyÆ

‡ÊéŒÙ¥◊ð¥,
x
•
¢∑
flÊ‹

ð

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

yÆ
‚
ð{Æ

‡ÊéŒÙ¥◊ð¥Œð¥–

Q
.1.

A
ttem

pt
all

questions.
5
×
1
=
5

‚
÷Ë
¬˝‡Ÿ

•
ÁŸflÊÿ¸„Ò¥–

(a)
A
ny

objector
situation

thathas
the

potential

to
cause

injury,
ill

health
or

dam
age

to

property
or

the
environem

nt.

∑
Ùß¸÷Ë

flSÃÈÿÊ
ÁSÕÁÃ

Á¡
‚
◊ð¥ø

Ù≈
‹
ªŸð,

π
⁄Ê’

SflÊSâÿ

ÿÊ
‚
¢¬ÁûÊ

ÿÊ
¬ÿÊ¸fl⁄áÊ

∑
Ù
ŸÈ∑
‚
ÊŸ
¬„È¢ø

ÊŸð∑
Ë
ˇÊ◊ÃÊ

„Ù–

(i)
S
afety

(ii)
H
azard

(iii)
C
hem

ical
(iv)

M
achinery

(v)
‚
È⁄ˇÊÊ

(w)
π
Ã⁄Ê

(x)
⁄Ê‚
ÊÿÁŸ∑

(y)
◊‡ÊËŸ⁄Ë

(b)
P
lace

w
here

people
buy

and
sell

things
?

fl„
¡
ª„

¡
„Ê¢‹

Ùª
flSÃÈ∞¢π

⁄ËŒŸð•
ı⁄
’ðø
Ÿð¡

ÊÃð„Ò¥–

(i)
M
arket

(ii)
Farm

(iii)
W
arehouse

(iv)
S
hop

(v)
’Ê¡
Ê⁄

(w)
π
ðÃ

(x)
ªÙŒÊ◊

(y)
ŒÈ∑
ÊŸ

(c)
A
person

w
ho

m
akes

m
oney

by
starting

or

running
business

by
taking

financial
risk.

∞∑
√ÿÁÄÃ

¡
Ù
ÁflûÊËÿ

¡
ÙÁπ
◊
©∆Ê∑

⁄
√ÿÊfl‚

Êÿ
‡ÊÈM

∑
⁄∑ð

ÿÊ
ø
‹
Ê∑
⁄
¬Ò‚
ð∑
◊ÊÃÊ

„Ò–

(i)
Farm

er
(ii)

D
octor

(iii)
E
ntrepreneur

(iv)
N
one

of
these



(v)
Á∑
‚
ÊŸ

(w)
«ÊÄ≈⁄

(x)
©l
◊Ë

(y)
ßŸ◊ð¥‚

ð∑
Ùß¸Ÿ„Ë¥

(d)
W
h
ich

cro
p

h
a
s

th
e

h
ig
h
e
st

w
a
te
r

requirem
ent

?

Á∑
‚
»
‚
‹
∑
Ù
¬ÊŸË

∑
Ë
‚
’‚
ð•
Áœ∑

•
Êfl‡ÿ∑

ÃÊ
„ÙÃË

„Ò?

(i)
W
heat

(ii)
P
addy

(iii)
M
aize

(iv)
O
ats

(v)
ªð„Í°

(w)
ø
Êfl‹

/œÊŸ

(x)
◊Ä∑

Ë
(y)

¡
ß¸

(e)
W
hich

of
the

follow
ing

is
a
K
harif

crop
?

ÁŸêŸ
◊ð¥‚

ð∑
ıŸ
‚
Ë
π
⁄Ë»

»
‚
‹
„Ò?

(i)
O
ats

(ii)
W
heat

(iii)
P
addy

(iv)
B
arley

(v)
¡
ß¸

(w)
ªð„Í°

(x)
ø
Êfl‹

/œÊŸ
(y)

¡
ı

Q
.2.

A
ttem

pt
any

ten
questions.

10×
2=
20

Á∑
ã„Ë¥Œ‚

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
D
efine

agrochem
icals.

∑ÎÁ·
⁄‚
ÊÿŸÙ¥∑

Ù
¬Á⁄÷ÊÁ·Ã

∑
⁄‘¥–

(b)
W
hat

is
aberrant

w
eather

?

•
‚
◊Êãÿ

◊ı‚
◊
ÄÿÊ

„Ò?

(c)
W
hat

is
sustainable

developm
ent

?

‚
ÃÃ

Áfl∑
Ê‚
ÄÿÊ

„Ò?

(d)
H
ow

to
utilize

w
ater

and
rain

w
ater

during

aberrant
w
eather

?

•
‚
◊Êãÿ

◊ı‚
◊
◊ð¥¡

‹
•
ı⁄
fl·Ê¸¡

‹
∑
Ê
∑È‡Ê‹

©¬ÿÙª

∑Ò‚
ð∑
⁄ŸÊ

ø
ÊÁ„∞

?

(e)
W
hat

is
agricultural

m
arketing

?

∑ÎÁ·
Áfl¬áÊŸ

ÄÿÊ
„Ò?

(f)
D
efine

entrepreneurship.

©l
Á◊ÃÊ

∑
Ù
¬Á⁄÷ÊÁ·Ã

∑
⁄‘¥–

(g)
W
hatprecautions

should
be

taken
during

use

of
agricultural

equipm
ents

?

∑ÎÁ·
©¬∑

⁄áÊÙ¥∑
Ê
©¬ÿÙª

∑
⁄Ãð‚

◊ÿ
ÄÿÊ

‚
ÊflœÊÁŸÿÊ°

’⁄ÃŸË
ø
ÊÁ„∞

?

(h)
D
efine

“m
onsoon”.

““◊ÊŸ‚
ÍŸ””

∑
Ë
√ÿÊÅÿÊ

∑
⁄‘¥–

(i)
L
ist

p
ro
b
le
m
s

re
la
te
d

to
su
sta

in
a
b
le

developm
ent.

‚
ÃÃ

Áfl∑
Ê‚
‚
¢’¢ÁœÃ

‚
◊SÿÊ∞¢Á‹

π
ð¥–

(j)
W
hat

is
P
rim

ary
m
arket

?

¬˝ÊÕÁ◊∑
’Ê¡
Ê⁄
ÄÿÊ

„ÙÃÊ
„Ò?



(k)
H
o
w

to
d
isp

o
se

o
ff

e
m
p
ty

p
e
sticid

e

containers
?

π
Ê‹
Ë
∑
Ë≈ŸÊ‡Ê∑

Ù¥
∑ð
∑¢≈ðŸ⁄Ù¥

∑
Ê
ÁŸ¬≈ÊŸ

∑Ò‚
ð
∑
⁄ŸÊ

ø
ÊÁ„∞

?

Q
3.

A
ttem

pt
any

five
questions.

5
×
3
=
15

Á∑
ã„Ë¥¬Ê°ø

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
D
escribe

the
qualities

and
functions

of
an

entrepreneur.

∞∑
©l
◊Ë
∑ð
ªÈáÊÙ¥•

ı⁄
∑
ÊÿÙZ∑

Ê
fláÊ¸Ÿ

∑
⁄‘¥–

(b)
D
escribe

m
ain

features
ofrainfalldistribution

in
India.

÷Ê⁄Ã
◊ð¥fl·Ê¸ÁflÃ⁄áÊ

∑ð
◊ÈÅÿ

¬„‹
È•
Ù¢∑

Ê
fláÊ¸Ÿ

∑
⁄‘¥–

(c)
C
lassify

agriculturalm
arkets

on
the

basis
of

place.

SÕÊŸ
∑ð
•
ÊœÊ⁄

¬⁄
∑ÎÁ·

’Ê¡
Ê⁄Ù¥∑

Ù
flªË¸∑ÎÃ

∑
⁄‘¥–

(d)
W
hatis

chem
icalpoisoining

?
W
hatfirstand

m
e
a
su
re
s
ca
n

b
e

a
d
o
p
te
d

in
ca
se

o
f

chem
ical

poisoining
?

⁄Ê‚
ÊÿÁŸ∑

Áfl·Ê∑
ÃÊ
ÄÿÊ

„Ò?
⁄Ê‚
ÊÿÁŸ∑

Áfl·Ê∑
ÃÊ
„ÙŸð

¬⁄
Á∑
Ÿ
¬˝ÊÕÁ◊∑

Áø
Á∑
à‚
Ê©¬ÊÿÙ¥∑

Ù
•
¬ŸÊÿÊ¡

Ê‚
∑
ÃÊ

„Ò?

(e)
H
ow

crop
m
anagem

ent
can

be
done

during

situation
of

floods
?

’Ê…∏
∑
Ë
ÁSÕ
ÁÃ

◊ð¥
»
‚
‹
¬˝’¢œ

Ÿ
∑Ò‚

ð
Á∑
ÿÊ

¡
ÊŸÊ

ø
ÊÁ„∞

?

(f)
D
efine

safety.W
hat

safety
m
easures

should

be
keptin

m
ind

during
w
orking

in
agricultural

industry.

‚
È⁄ˇÊÊ

∑
Ù
¬Á⁄÷ÊÁ·Ã

∑
⁄‘¥–
∑ÎÁ·

©l
Ùª
◊ð¥∑

Êÿ¸∑
⁄Ãð‚

◊ÿ

∑
ıŸ
‚
ð‚
È⁄ˇÊÊ

©¬Êÿ
äÿÊŸ

◊ð¥⁄π
ð¡
ÊŸðø

ÊÁ„∞–



T
e
rm

-
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(L
e
v
e
l
-
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C
la
s
s
–
1
1
th

S
u
b
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c
t
–

A
g
ric

u
ltu

re

T
im
e
:
3
h
o
u
rs

M
.M
.
:
4
0

Ÿ
Ù≈

(N
o
te
)
:–

(i)
C
andidates

are
required

to
give

answ
ers

in
their

ow
n
w
ords

as
far

as
possible.

¬⁄ËˇÊÊÕË¸ÿÕÊ‚
¢÷fl

•
¬Ÿð‡ÊéŒÙ¥◊ð¥©ûÊ⁄

Œð¥–

(ii)
M
arks

alloted
to

each
question

are
indicated

against
it.

¬˝àÿð∑
¬˝‡Ÿ

∑ð
•
¢∑
©‚
∑ð
‚
Ê◊ŸðÁŒ∞

ª∞
„Ò¥–

(iii)
A
ll
questions

are
com

pulsory.

‚
÷Ë
¬˝‡Ÿ

•
ÁŸflÊÿ¸„Ò¥–

(iv)
A
nsw

ers
should

be
brief

and
to

the
point.

©ûÊ⁄
‚
¢ÁˇÊåÃ

∞fl¢Ã∑¸
‚
¢ªÃ

„ÙŸÊ
ø
ÊÁ„∞–

(v)
A
nsw

er
the

questions
of01

m
ark

only
in
one

w
ord

or
one

line,
2
m
arks

in
20

to
40

w
ords,

3
m
arks

in
40-60

w
ords.

v
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

∑ðfl‹
∞∑

‡ÊéŒ
ÿÊ
∞∑

¬¢ÁÄÃ
◊ð¥,

w
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

wÆ
‚
ðyÆ

‡ÊéŒÙ¥◊ð¥,
x
•
¢∑
flÊ‹

ð

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

yÆ
‚
ð{Æ

‡ÊéŒÙ¥◊ð¥Œð¥–

Q
.1.

A
ttem

pt
all

questions.
5
×
1
=
5

‚
÷Ë
¬˝‡Ÿ

•
ÁŸflÊÿ¸„Ò¥–

(a)
__________

is
an

organic
m
atter

derived

from
solid

anim
al

w
aste,

used
to

im
prove

the
soil

quality
and

increase
the

yield
of

crops.

....................
∞∑

∆Ù‚
∑
Ê’¸ÁŸ∑

•
¬Á‡c≈

¬ŒÊÕ¸
„Ò¥

Á¡
‚
∑
Ê
©¬ÿÙª

Á◊≈˜≈Ë
∑
Ë
ªÈáÊflûÊÊ

◊ð¥‚
ÈœÊ⁄

•
ı⁄
»
‚
‹
Ù¥

∑
Ë
©¬¡

’…∏ÊŸð∑ð
Á‹
∞
Á∑
ÿÊ
¡
ÊÃÊ

„Ò–

(i)
M
anure

(ii)
F
ertilizer

(iii)
V
erm

i
com

post(iv)
N
one

of
these

(v)
π
ÊŒ

(w)
©fl¸⁄∑

(x)
∑ð¥ø
È•
Ê
π
ÊŒ

(y)
ßŸ◊ð¥‚

ð∑
Ùß¸Ÿ„Ë¥–

(b)
T
he

elem
ent

required
by

plants
in

large

am
ountcalled

...................

’«∏Ë
◊ÊòÊÊ

◊ð¥¬ıœÙ¥mÊ⁄Ê
Á‹
∞
¡
ÊŸðflÊ‹

ð•
Êfl‡ÿ∑

¬Ù·∑

ÃàflÙ¥∑
Ù
....................

∑
„Ê
¡
ÊÃÊ
„Ò–

(i)
M
acro-nutrients(ii)

M
icro

nutrients

(iii)
N
utrients

(iv)
N
one

of
these

(v)
◊Ò∑˝Ù

¬Ù·áÊ
Ãàfl

(w)
‚
Í̌◊

¬Ù·∑
Ãàfl

(x)
¬Ù·∑

Ãàfl
(y)

ßŸ◊ð¥‚
ð∑
Ùß¸Ÿ„Ë¥



(c)
W
hich

of
the

follow
ing

is
not

a
charactristics

of
a
successful

entrepreneur.

ßŸ◊ð¥‚
ð∑
ıŸ
‚
Ë
∞∑

‚
»
‹
©l
◊Ë
∑
Ë
Áfl‡Êð·ÃÊ

Ÿ„Ë¥„Ò–

(i)
Team

building
(ii)

R
isk

tolerance

(iii)
A
daptability

(iv)
Im
patience

(v)
≈Ë◊

ÁŸ◊Ê¸áÊ
(w)

¡
ÙÁπ
◊
©∆ÊŸÊ

(x)
•
ŸÈ∑Í‹

Ÿ
ˇÊ◊ÃÊ

(y)
•
œË⁄ÃÊ

(d)
A
pplication

of
w
ater

in
crops

is
know

n
as

...................

»
‚
‹
Ù¥◊ð¥¬ÊŸË

ŒðŸÊ
....................

∑
„‹
ÊÃÊ
„Ò–

(i)
Irrigation

(ii)
W
eeding

(iii)
M
ulching

(iv)
Fertigation

(v)
Á‚
¢ø
Êß¸

(w)
ÁŸ⁄Êß¸

(x)
¬‹
flÊ⁄

(y)
»
Á≈¸ªð‡ÊŸ

(e)
T
he

rem
oval

of
unw

anted
branches

from
a

tree
is
know

n
as

:

¬ð«∏Ù¥‚
ð•
flÊ¢Á¿

Ã
‡ÊÊπ

Ù¥∑
Ù
„≈ÊŸÊ

∑
„‹
ÊÃÊ

„Ò—

(i)
Training

(ii)
P
inching

(iii)
P
roning

(iv)
D
isbudding

(v)
≈ð̨ÁŸ¢ª

(w)
Á¬ŸÁø

¢ª

(x)
¿¢≈Êß¸

(y)
«
Ë‚
flÁ«¢ª

Q
.2.

A
ttem

pt
any

ten
questions.

10×
2=
20

Á∑
ã„Ë¥Œ‚

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
W
hat

are
biofertilizers

?

¡
ÒÁfl∑

©fl¸⁄∑
ÄÿÊ

„ÙÃð„Ò¥?

(b)
W
hat

is
im
portance

of
drainage

?

¬ÊŸË
∑
Ê
ÁŸ∑

Ê‚
ÄÿÙ¥•

Êfl‡ÿ∑
„Ò
?

(c)
W
hat

are
uses

of
w
eedicides

?

π
⁄¬ÃflÊ⁄ŸÊÁ‡ÊÿÙ¥∑ð

©åÊÿÙª
ÄÿÊ

„Ò¢?

(d)
D
efine

innovativeness.

ŸflËŸ‚
Ùø

∑
Ù
¬Á⁄÷ÊÁ·Ã

∑
⁄‘¥–

(e)
W
hat

is
disbudding

?

«Ë‚
flÁ«¢ª

ÄÿÊ
„Ò?

(f)
W
hy

staking
is
im
portant

in
plants

?

¬ıœÙ¥◊ð¥S≈ðÁ∑¢ª
∑
Ê
ÄÿÊ

◊„ûfl
„Ò¢?

(g)
N
am

e
tw
o
diseases

and
tw
o
insect

pest
of

flow
ering

crops.

»Í‹
Ù¥∑
Ë
Á∑
ã„Ë¥ŒÙ

’Ë◊ÊÁ⁄ÿÙ¥ÃÕÊŒÙ
∑
Ë≈Ù¥∑ðŸÊ◊

Á‹
π
ð¥–

(h)
D
efine

E
-w
aste.

ß¸-flðS≈
∑
Ë
√ÿÊÅÿÊ

∑
⁄‘¥–



(i)
E
xplain

m
ethods

of
fertilizer

application.

©fl¸⁄∑
«Ê‹

Ÿð∑ð
Ã⁄Ë∑

Ù¥∑
Ê
fláÊ¸Ÿ

∑
⁄‘¥–

(j)
D
efine

tillage.

¡
ÈÃÊß¸∑

Ë
√ÿÊÅÿÊ

∑
⁄‘¥–

(k)
W
hat

are
entrepreneurial

values
?

©l
Á◊ÃÊ

∑ð
ÄÿÊ

◊Í‹
„Ò¥?

Q
3.

A
ttem

pt
any

five
questions.

5
×
3
=
15

Á∑
ã„Ë¥¬Ê°ø

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
W
rite

a
short

note
on

renew
able

energy.

ŸflË∑
⁄áÊËÿ

™
¡
Ê¸¬⁄

ŸÙ≈
Á‹
π
ð¥–

(b)
H
ow

to
select

site
for

N
ursery

raising
?

Ÿ‚
¸⁄Ë
©ªÊŸð∑ð

Á‹
∞
÷ÍÁ◊∑

∑
Ê
ø
ÿŸ

∑Ò‚
ðÁ∑

ÿÊ
¡
ÊÃÊ

„Ò?

(c)
D
escribe

m
echanical

&
chem

ical
m
ethods

of
P
est

control.

∑
Ë≈
¬˝’¢œŸ

∑ð
ÿÊ¢ÁòÊ∑

•
ı⁄
⁄Ê‚
ÊÿÁŸ∑

Ã⁄Ë∑
Ù¥∑

Ê
fláÊ¸Ÿ

∑
⁄‘¥–

(d)
W
hat

is
m
ulch

?
W
hat

is
im
portance

of

m
ulching

?

¬‹
flÊ⁄

ÄÿÊ
„Ò?

¬‹
flÊ⁄

∑
Ë
ÄÿÊ

◊„àflûÊÊ
„Ò?

(e)
E
xplain

drip
irrigation.

«˛Ë¬
Á‚
¢ø
Êß¸/

≈¬∑
Á‚
¢ø
Êß¸∑

Ë
√ÿÊÅÿÊ

∑
⁄‘¥–

(f)
D
efine

:
P
inching,

E
arthing

up
&
W
eeding.

√ÿÊÅÿÊ
∑
⁄‘¥—

Á¬¢Áø
¢ª,
•
ÁÕZª

•
¬
•
ı⁄
ÁŸ⁄Êß¸–



T
e
rm

-
II
(L
e
v
e
l
-
IV
)

C
la
s
s
–
1
2
th

S
u
b
je
c
t
–

A
g
ric

u
ltu

re

T
im
e
:
3
h
o
u
rs

M
.M
.
:
4
0

Ÿ
Ù≈

(N
o
te
)
:–

(i)
C
andidates

are
required

to
give

answ
ers

in
their

ow
n
w
ords

as
far

as
possible.

¬⁄ËˇÊÊÕË¸ÿÕÊ‚
¢÷fl

•
¬Ÿð‡ÊéŒÙ¥◊ð¥©ûÊ⁄

Œð¥–

(ii)
M
arks

alloted
to

each
question

are
indicated

against
it.

¬˝àÿð∑
¬˝‡Ÿ

∑ð
•
¢∑
©‚
∑ð
‚
Ê◊ŸðÁŒ∞

ª∞
„Ò¥–

(iii)
A
ll
questions

are
com

pulsory.

‚
÷Ë
¬˝‡Ÿ

•
ÁŸflÊÿ¸„Ò¥–

(iv)
A
nsw

ers
should

be
brief

and
to

the
point.

©ûÊ⁄
‚
¢ÁˇÊåÃ

∞fl¢Ã∑¸
‚
¢ªÃ

„ÙŸÊ
ø
ÊÁ„∞–

(v)
A
nsw

er
the

questions
of01

m
ark

only
in
one

w
ord

or
one

line,
2
m
arks

in
20

to
40

w
ords,

3
m
arks

in
40-60

w
ords.

v
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

∑ðfl‹
∞∑

‡ÊéŒ
ÿÊ
∞∑

¬¢ÁÄÃ
◊ð¥,

w
•
¢∑
flÊ‹

ð¬˝‡ŸÙ¥∑ð
©ûÊ⁄

wÆ
‚
ðyÆ

‡ÊéŒÙ¥◊ð¥,
x
•
¢∑
flÊ‹

ð

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

yÆ
‚
ð{Æ

‡ÊéŒÙ¥◊ð¥Œð¥–

Q
.1.

A
ttem

pt
all

questions.
5
×
1
=
5

‚
÷Ë
¬˝‡Ÿ

•
ÁŸflÊÿ¸„Ò¥–

(a)
T
he

plants
w
hich

com
pletes

their
life

cycle

in
m
ore

than
tw
o
years

are
called

.................

¡
Ù
¬ıœð•

¬ŸÊ
¡
ËflŸ

ø
∑˝
ŒÙ
fl·¸‚

ð•
Áœ∑

•
flÁœ

◊ð¥

¬Í⁄Ê
∑
⁄Ãð„Ò¥fl„

....................
∑
„‹
ÊÃð„Ò¥–

(i)
A
nnual

(ii)
B
iennial

(iii)
P
erennials

(iv)
N
one

of
these

(v)
flÊÁ·¸∑

(w)
ÁmflÊÁ·¸∑

(x)
‚
ŒÊ’„Ê⁄

(y)
ßŸ◊ð¥‚

ð∑
Ùß¸Ÿ„Ë¥

(b)
L
ife

cycle
o
f
a
n
n
u
a
l
p
la
n
t
co
m
p
le
te
s
in

......................

flÊÁ·¸∑
¬ıœÙ¥∑

Ê¡
ËflŸ

ø
∑˝....................•

flÁœ
◊ð¥¬Í⁄Ê

„ÙÃÊ
„Ò–

(i)
1
year

(ii)
2
years

(iii)
M
any

years
(iv)

4
years

(v)
∞∑

fl·¸
(w)

ŒÙ
fl·¸

(x)
’„ÈÃ

fl·¸
(y)

y
fl·¸

(c)
W
hich

of
these

is
not

a
green

house
gas.

ÁŸêŸ
◊ð¥‚

ð∑
ıŸ
‚
Ë
ª˝ËŸ

„Ê©‚
ªÒ‚

Ÿ„Ë¥„Ò–



(i)
M
ethane

(ii)
C
arbondioxide

(iii)
O
xygen

(iv)
N
itrous

oxide

(v)
◊ËÕðŸ

(w)
∑
Ê’¸Ÿ

«Êß¸•
ÊÚÄ‚
Êß«

(x)
•
ÊÚÄ‚
Ë¡
Ÿ

(y)
ŸÊß≈˛‚

•
ÊÚÄ‚
Êß«

(d)
A
pplication

of
fertilizers

along
w
ith

irrigation

w
ater

is
know

n
as

.......................

Á‚
¢ø
Êß¸∑ð¬ÊŸË

∑ð‚
ÊÕ
©fl¸⁄∑

Ù¥∑
Ê¬˝ÿÙª

....................

∑
„‹
ÊÃÊ

„Ò–

(i)
M
icro

irrigation
(ii)

D
rip

irrigation

(iii)
F
ertigation

(iv)
F
looding

(v)
‚
Í̌◊

Á‚
¢ø
Êß¸

(w)
Á«˛¬

Á‚
¢ø
Êß¸

(x)
»
Á≈¸ªð‡ÊŸ

(y)
’Ê…∏Á‚

¢ø
Êß¸

(e)
A
ddition

of
features

or
econom

ic
value

to
a

product
to

enhance
the

quality
or

durability

of
product.

©à¬ÊŒ
∑
Ë
ªÈáÊflûÊÊ

ÿÊ
SÕÊÁÿàfl

’…∏ÊŸð
∑ð
Á‹
∞
Á∑
‚
Ë

©à¬ÊŒ
◊ð¥‚

ÈÁflœÊ•
Ù¢ÿÊ

•
ÊÁÕ¸∑

◊ÍÀÿ
∑
Ù
¡
Ù«∏ŸÊ–

(i)
E
conom

y
(ii)

V
alue

addition

(iii)
M
arketing

(iv)
E
nhancem

ent

(v)
•
Õ¸√ÿflSÕÊ

(w)
◊ÍÀÿ

‚
¢flœ¸Ÿ

(x)
Áfl¬áÊŸ

(y)
flÎÁh

Q
.2.

A
ttem

pt
any

ten
questions.

10×
2=
20

Á∑
ã„Ë¥Œ‚

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
D
efine

herbs.

¡
«∏Ë
’ÍÁ≈ÿÙ¥∑

Ù
¬Á⁄÷ÊÁ·Ã

∑
⁄‘¥–

(b)
W
hat

are
perennials

?

‚
ŒÊ’„Ê⁄

¬ıœðÄÿÊ
„Ò¥?

(c)
D
efine

entrepreneur.

©l
◊Ë
∑
Ë
√ÿÊÅÿÊ

∑
⁄‘¥–

(d)
H
ow

to
prepare

rose
w
ater

?

ªÈ‹
Ê’
¡
‹
∑Ò‚
ð’ŸÊÿÊ

¡
ÊÃÊ

„Ò?

(e)
W
hat

are
benefits

of
value

addition
?

◊ÍÀÿ
‚
¢flœ¸Ÿ

∑ð
ÄÿÊ

»
ÊÿŒð„Ò¥?

(f)
D
efine

ornam
ental

trees
and

landscaping.

‚
¡
Êfl≈Ë

¬ð«∏
•
ı⁄
÷ÍÁŸ◊Ê¸áÊ

∑
Ë
√ÿÊÅÿÊ

∑
⁄‘¥–

(g)
W
hat

is
O
rganic

gardening
?

¡
ÒÁfl∑

’ÊªflÊŸË
ÄÿÊ

„Ò?

(h)
W
h
a
t
is

d
iffe

re
n
ce

b
e
tw
e
e
n
cre

e
p
e
rs

&

clim
bers

?

∑˝Ë¬‚
¸•
ı⁄
Ä‹
Ê¢ß¸’‚

¸(¬fl¸ÃÊ⁄Ù„Ë)
◊ð¥ÄÿÊ

•
¢Ã⁄
„Ò?



(i)
W
hat

is
P
ergola

?

¬ªÙ¸‹
Ê
ÄÿÊ

„Ò?

(j)
W
hatare

barriers
to
becom

e
entrepreneur

?

©l
◊Ë
’ŸŸð◊ð¥ÄÿÊ

’ÊœÊ∞¢„Ò¥?

(k)
D
efine

repotting.

Á⁄¬ÊÚÁ≈¢ª
∑
Ë
√ÿÊÅÿÊ

∑
⁄‘¥–

Q
3.

A
ttem

pt
any

five
questions.

5
×
3
=
15

Á∑
ã„Ë¥¬Ê°ø

¬˝‡ŸÙ¥∑ð
©ûÊ⁄

Œð¥–

(a)
W
rite

procedure
to

prepare
G
ulkand.

ªÈ‹
∑¢Œ

’ŸÊŸð∑
Ë
ÁflÁœ

Á‹
π
ð¥–

(b)
D
efine

:
Training,

P
runing,

W
eeding

√ÿÊÅÿÊ
∑
⁄‘¥—-

≈˛ðÁŸ¢ª,
¿¢≈Êß¸,

ÁŸ⁄Êß¸

(c)
C
la
ssify

p
la
n
ts

o
n
th
e
b
a
sis

o
f
g
ro
w
th

habit.

flÎÁh
∑
Ë
•
ÊŒÃ

∑ð
•
ÊœÊ⁄

¬⁄
¬ıœÙ¥∑

Ê
flªË¸∑

⁄áÊ
∑
⁄‘¥–

(d)
W
rite

short
note

on
recycling

of
w
aste.

∑
ø
⁄‘∑ð

¬ÈŸø
¸∑˝áÊ

¬⁄
‚
¢ÁˇÊåÃ

Á≈å¬áÊË
Á‹
π
ð¥–

(e)
C
lassify

shrubs
on

the
basis

of
grow

ing

seasons.

◊ı‚
◊
∑ð
•
ÊœÊ⁄

¬⁄
¤ÊÊÁ«∏ÿÙ¥∑

Ù
flªË¸∑ÎÃ

∑
⁄‘¥–

(f)
H
ow

to
take

care
of

indoor
plants

?

ßŸ«Ù⁄
¬ıœÙ¥∑

Ë
Œðπ
÷Ê‹

∑Ò‚
ð∑
⁄‘¥
?


